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oS¢ 50,0008 = 1 » 12& 600
oXMATA+E 150,000 * 18 * 123 1,800
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Oget+=ZH| 15,000
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0332 % MA 12,500
O gl 4,000
OAl &€ &Hl s X H 3,000
OXt& | 4,000
202 o4l 21,852 21,852 0
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01 At 22l 22,000 18,000 4,000
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01 A& HI 20,000 10,000 10,000
OSEAL EHIS A 20,000
405 TtHabH S| 2,000 2,000 0
01 AL EFH S 2,000 2,000 0
Os&EA &J17¢ 2,000
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= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t
373,361 261,800 111,561
X Jlgr 25t 160,610 105,030 55,580
X 243 X 160,610 105,030 55,580
QINXIMEH 2 32,880 32,000 880
201 L2l 27,000 27,000 0
01 At 22l 27,000 27,000 0
OFURNXME 2H(R2LS 1L, SES 1
ML) 27,000
301 LEBEAS 2,880 2,000 880
12 JIEtEA 3 2,880 2,000 880
OFXXHH NESAME =
120,000 » 204 « 12& 2,880
405 XHoHE S HI 3,000 3,000 0
01 AL EZFH S 3,000 3,000 0
O XXHH HHl -+ 3,000
s - By g3d & 78,630 56,430 22,200
301 LA F 78,630 56,430 22,200
058 -0 -tHESEHS 78,630 56,430 22,200
os&d=¢ 74,880
ol 300,000& = 16 * 12& 57,600
cd0= 300,000& = 16YH =« 23l 9,600
o5l FALY
20,0003 = 16Y = 23| » 123 7,680
Otz =g 50,000& = 75H « 13l 3,750
2 A" E0 K& 3,600 3,600 0
301 LEAZ 3,600 3,600 0
09 HALAHIX A S 3,600 3,600 0
Os&I2HH 32 =4 300,000 * 123 3,600
SEN 2E 2tel 34,500 12,000 22,500
401 Al Bl 28I 30,000 10,000 20,000
01 A& bl 30,000 10,000 20,000
OsEAL ZHISA 30,000
405 THobH S| 4,500 2,000 2,500
01 XL =S H SHI 4,500 2,000 2,500
Os&EA &J17¢ 4,500
cplRA Wiw)| 7g 3,000
oFQIZANSY WHD Y 1,500
QMR 29 1,000 1,000 0
201 LB-2dH| 1,000 1,000 0
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A FOIXA Olg 23
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- _ — d =
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01 At 22l 1,000 1,000 0
OFMEXags 2 1,000
MDD S UHHAY 5,000 0 5,000
405 RHoHE S HI 5,000 0 5,000
01 AL ESFH SH 5,000 0 5,000
Oodgzs+ 7 5,000
HASE 23 24 BtHAAE IIRI ALY 5,000 0 5,000
206 = Hl 5,000 0 5,000
01 MHZ 4l 5,000 0 5,000
OEs0=Z2¢ BrAlE B3 5,000
FQ XX Jlgtx 100,000 50,000 50,000
=0 MEI|IBAL &3 100,000 50,000 50,000
A8 FU=SAAY 100,000 50,000 50,000
401 AIEHI L 2CHEI 100,000 50,000 50,000
01 A& Bl 100,000 50,000 50,000
OAnE FR=JAY 100,000
oFREAS 28 OS2 FHH| 20,000
o=1A 0tz &l 15,000
ocZAHAEIY MUY AUZIE 20,000
oHI2A0ZZZ 22 &1 10,000
oR2ATHAD AYZ IJtE Y &X 10,000
olZE MH =2 £X X FHl 20,000
ocHENEZ FIE% L7 ALEH 5,000
BHSAAY (P24 S) 112,751 106,770 5,981
el 2l 41,399 36,618 4,781
oI 2| 41,399 36,618 4,781
101 @14 dl 41,399 36,618 4,781
03 2N AHAA22HE =+ 41,399 36,618 4,781
Os FAZe 22NES (AR, 19588) 41,399
=Jl2g 1,706,640 » 1H » 12&8 20,480
SR GRS 1,706,640 * 1 * 400% 6,827
oS URY 50,000 = 1% = 12¢ 600
oM ATHSH 150,000& = 198 = 128 1,800
oAg ¢ 90,000 = 1% = 12& 1,080
o Z A G A 120,000& = 18 = 128 1,440
o JtH 2 &HI 80,000& = 1% = 12& 960
oXRad 110,000& = 1€ = 128 1,320
octExd 40,0002 * 1¥ * 123 480
ocEESIHHI 1,706,640 » 1H * 120% 2,048
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N = 0l & At & M A

SN EYS
OIXEX DsXdst
OIXX 43 N (2 &HH)
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ofl At o4 %Eﬁ HR=2
337,747 254,029 83,718
XX Jlsds 127,860 101,060 26,800
XX 243 X 127,860 101,060 26,800
DINXIAEH 29 28,000 25,000 3,000
201 2Et2Hy| 23,000 20,000 3,000
01 AP 2t 2] H| 23,000 20,000 3,000
OF0XXHEH 24 23,000
301 et M3 2,000 2,000 0]
12 JIEtE2 &= 2,000 2,000 0
OFCIXXHEH NASALL =& 2,000
405 XHAHFI S HI 3,000 3,000 0
01 AL 2 E F S| 3,000 3,000 0
OF0IXXAHEH A2 3,000
- BHE 2 3H| X 83,260 59,460 23,800
301 dEtE M= 83,260 59,460 23,800
05 S&E -0 -EHEESEM= 83,260 59,460 23,800
Os&sH 79,560
ollgxd 300,0008 = 174 = 12&€ 61,200
oat( 2 300,000& * 17¥ * 23] 10,200
oslolaaay
20,000& = 174 * 23] = 12& 8,160
Ot 4< 50,000& x 74% * 13| 3,700
oI Al &0 K& 3,600 3,600 0
301 et A =2 3,600 3,600 0
09 SHAIAHI X & 2 3,600 3,600 0
ORI ZEH 3o 24 300,000 = 12& 3,600
SEA 29 22| 12,000 12,000 0
401 AlEHIZL £ 0HY| 10,000 10,000 0
01 Al&H| 10,000 10,000 0
OSEAMN AES HH(2124dd) 10,000
405 XHA&HF S HI 2,000 2,000 0
01 JML = EF S HI 2,000 2,000 0]
OsEAMN &EJ7¢ 2,000
DIMEIT|ASHA 2H 1,000 1,000 0
201 Bt 1,000 1,000 0
01 AP 22| H| 1,000 1,000 0
OF0MER|AGA 2A 1,000
XXl Jletx A 100,000 50,000 50,000
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a=: s & =
I FULX JIgtxd
CH9l: Ol MEBIIBIAIA =E (St &)
= _ - 4 &
SERE L RE-ERY=E1C PRy EVI-RE-EL 0f o e HI D52
Fo dEI|BAE &F 100,000 50,000 50,000
272 FUSFAY 100,000 50,000 50,000
401 AlEHIZ 208 100,000 50,000 50,000
01 A€ dl 100,000 50,000 50,000
OAnZ FUSFALE 100,000
cltSEH FXNE=(100HA) 20,000
oltSot2 AT AT AH(3MA) 15,000
oS53 S22 SHEA 20,000
ollli= Ot=erd FH 15,000
cliSetz ZHI A2 ) 20,000
oZclus & tMaAA LX) 10,000
HY2LIH(ELS) 109,887 102,969 6,918
elE2gl 36,535 32,817 3,718
olEi 2l 36,535 32,817 3,718
101 1248l 36,535 32,817 3,718
03 RIHAKZ2NHE =+ 36,535 32,817 3,718
Os#A2e 22X (AR, 95 8) 36,535
=Jlza 1,478,800& » 1 » 128 17,746
o= 1,478,800 » 1 = 400% 5,916
cS4gfsd 50,0008 » 1 » 12& 600
oXNHFA+E 150,000 * 18 + 123 1,800
ofg+g 90,0008 » 1 » 12& 1,080
o Z HG A 120,000& * 18 = 1238 1,440
o JbH 2 & Hl 80,0002 » 1 » 12& 960
oXNRxg 110,000& * 18 » 1238 1,320
o EF Iyl 1,478,800 » 1H = 120% 1,775
cHIARSFITE 96,2408 ~ 18 « 18¢ 1,733
oANZLAZRsE
18,040% = 10AI2+ = 18 = 128 2,165
Jl=&dl 73,352 70,152 3,200
Jl=3dHl 73,352 70,152 3,200
201 Yete Al 41,200 39,200 2,000
01 AtR 2t 2l Hl 19,700 17,700 2,000
Oget=2ZH| 15,000
O=eHl 4,700
02 S3=29Hl 21,500 21,500 0
O332= & HA 10,500
O =H| 4,000
OAlZ& &S Xlbl 3,000
OXtef s A bl 4,000
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